



Order Summary

Pricing Month July 2025 (v.7.16.25)

Guestroom Information	
Total Rooms	120
Total - King Single Rooms	74
Total - Queen Single Rooms	0
Total - Queen Double Rooms	46
Total Beds - Full	0
Queen Sleeper Sofa	0
Full Sleeper Sofa	0
Total Number of Guest Bathrooms	120
Rooms with Tubs	4

Par	
Requested Terry Par	2.5
Requested Linen Par	2.5
Projected Occupancy	65.00%
# Days of Amenities	60

Property Information	
Number of Floors	3
Number of Entrances	1

Account Information	
Business Unit	
Inn Code	
Account #	
SC Name	

Account Information	
Property Address	
Delivery Address (If different from above)	
Property Contact Name	
Property Email	
Property Phone #	
Delivery Date	
Opening Date	
Opening Type	New Construction

Avg. \$ Spend/Room	\$	1,476.28
--------------------	----	----------

Notes



Hotel Area	Dollar Value
Guestroom and Public Areas	\$ 140,582.84
Back of House	\$ 36,571.29
Subtotal	\$ 177,154.13

Product Category	Dollar Value
Personal Care Amenities	\$ 367.13
Guestroom Accessories	\$ 29,711.52
Textiles and Linens	\$ 81,206.25
Paper and Washroom Items	\$ 411.18
Janitorial and Housekeeping	\$ 29,975.53
Food, Beverages, and More	\$ 1,734.92
Electronics and Appliances	\$ 14,219.49
Maintenance, Repair, Operation	\$ 5,907.81
PPE & Health Safety	\$ 1,146.00
Furniture Fixtures & Equipment	\$ 12,474.30
Miscellaneous (Added Items)	\$ -
Subtotal	\$ 177,154.13

Shipping	Dollar Value
Stocked	\$ 124,936.35
Drop-Ship	\$ 52,217.78
Subtotal	\$ 177,154.13
Tax Rate	0.00%
Estimated Drop Ship Freight 20%	\$10,443.56
Grand Total	\$ 187,597.69

*Pricing Subject to change

Guestroom and Brand Mandated

\$ 140,582.84

Hidden

Item #	Item Description	Drop Ship	Case Pack	UOM	Sell Price Per UOM	Quantity Ordered	Extended Cost	Edit +/-	Brand Standard Code	Product Notes (limit 72 characters)	Product Category
Guest Bathroom											
Amenities											
0100242	Lockwood New York Shampoo, Dispenser Bottle, 15oz	Stocked	12	CS	\$ 48.19	0	\$ -			(is this right for the bracket)	Guestroom Accessories
0100241	Lockwood New York Conditioner, Dispenser Bottle, 15oz	Stocked	12	CS	\$ 48.19	0	\$ -			(is this right for the bracket)	Guestroom Accessories
0100239	Lockwood New York Shower Gel, Dispenser Bottle, 15oz	Stocked	12	CS	\$ 48.19	0	\$ -			(is this right for the bracket)	Guestroom Accessories
0100240	Lockwood New York Lotion, Dispenser Bottle, 15oz	Stocked	12	CS	\$ 52.59	0	\$ -			(is this right for the bracket)	Guestroom Accessories
A2357AL10CTN	Lockwood NY 1oz Soap - 200 / case	Stocked	200	CS	\$ 61.01	0	\$ -			(is this right for the bracket)	Guestroom Accessories
0100122	Mini Bracket w/dishwasher	Stocked	36	CS	\$ 245.41	0	\$ -	-10		Preferred the Spaza brackets	Guestroom Accessories
0100123	Mini Bracket w/ screws	Stocked	36	CS	\$ 245.41	0	\$ -	-4		Preferred the Spaza brackets	Guestroom Accessories
Terry											
0078359	Hilton Bath Towel, Diamond Border, 100% Cotton Hi-Bloom, 27x56, 17lbs, White*****	Stocked	18	CS	\$ 125.78	0	\$ -	-864	Brand Mandated		Textiles and Linens
0033058	Connoisseur Cotton Dobby Bath Towel, 30x60, 20lbs, White	Stocked	24	cs	\$ 226.00	41	\$ 9,266.00			Requires Waiver	Textiles and Linens
0078361	Hilton Hand Towel, Diamond Border, 100% Cotton Hi-Bloom, 16x30, 4lbs, White	Stocked	84	CS	\$ 152.79	9	\$ 1,375.11		Brand Mandated		Textiles and Linens
0078362	Hilton Wash Cloth, Diamond Border, 100% Cotton, 13x13, 1.5lbs, White	Stocked	240	CS	\$ 146.60	6	\$ 879.60		Brand Mandated		Textiles and Linens
0078363	Hilton Bath Mat, Single Frame Border, 100% Cotton, 20x32, 9.75lbs, White	Stocked	36	CS	\$ 124.88	9	\$ 1,123.92		Brand Mandated		Textiles and Linens
Bath Rugs											
0023787	Connoisseur Bath Rug, 100% Cotton, Rectangular 21x36, White with Latex Backing	Stocked	1	dz	\$ 252.68	0	\$ -		Meets Brand Standard		Textiles and Linens
Bath Collections											
Metro Collection											
0028384	Metro Tissue Box Cover, Black	Stocked	12	CS	\$ 140.74	0	\$ -		Meets Brand Standard		Guestroom Accessories
CUBIX Collection											
	Paradigm Trends Items Q-0004216 See Chase for Quote	Stocked	8	CS	\$ 136.14	0	\$ 18,281.82		Meets Brand Standard		Guestroom Accessories
		Stocked	24	CS	\$ 200.02	0	\$ -		Meets Brand Standard		Guestroom Accessories
		Drop-Ship	4	CS	\$ 192.68	0	\$ -		Meets Brand Standard		Guestroom Accessories
		Stocked	8	CS	\$ 205.50	0	\$ -		Meets Brand Standard		Guestroom Accessories
Malibu Collection											
0029694	Kraftware Malibu Amenity Tray, 10Lx5.5Wx1H, Bright White Resin	Stocked	12	CS	\$ 156.24	0	\$ -		Meets Brand Standard		Guestroom Accessories
0029691	Kraftware Malibu Soap Dish, 5Lx11x3.75W, Bright White Resin	Stocked	24	CS	\$ 188.46	0	\$ -		Meets Brand Standard		Guestroom Accessories
0029692	Kraftware Malibu Wastebasket, 7.25Lx10Hx7.25W, Bright White Resin	Stocked	3	CS	\$ 116.80	0	\$ -		Meets Brand Standard		Guestroom Accessories
0029693	Kraftware Malibu Boutique Tissue Box Cover, 5.5Lx6.75Wx5.5W, Bright White Resin	Stocked	6	CS	\$ 124.90	0	\$ -		Meets Brand Standard		Guestroom Accessories
Night Lights											
0080517	Glow Night Light, White, Single Pack	Stocked	8	CS	\$ 92.35	0	\$ -		Brand Mandated		Electronics and Appliances
0079110	LumiCover Core Decor Nightlight Wallplate, White	Stocked	24	CS	\$ 173.91	0	\$ -		Brand Mandated		Electronics and Appliances
0079109	LumiCover Core Duplex Nightlight Wallplate, White	Stocked	24	CS	\$ 173.91	0	\$ -		Brand Mandated		Electronics and Appliances
0080521	LumiCover Universal GFCC Compatible Nightlight Wallplate, White, 6-4-Packs	Stocked	24	CS	\$ 173.91	0	\$ -		Brand Mandated		Electronics and Appliances
0079115	Madison Shade LED Night Light, White, 2 Nightlights/Pack, 6 Packs/Box	Stocked	6	BX	\$ 37.19	0	\$ -		Brand Mandated		Electronics and Appliances
Shower Curtains / Liners											
0080817	Ames Herringbone Shower Curtain, 100% Polyester, Hook-Free, Window, 72x74, White	Stocked	12	CS	\$ 206.83	1	\$ 206.83		Brand Mandated	(Have FFE Take it out of theirs we are not pay	Guestroom Accessories
0080821	Shower Curtain Liner, 100% Polyester, Snap-In, Hook-Free, Window, 71x54, White	Stocked	12	CS	\$ 77.75	1	\$ 77.75		Brand Mandated		Guestroom Accessories
0080818	Bay Blocks Shower Curtain, 100% Polyester, Hook-Free, 72x74, White	Stocked	12	CS	\$ 204.12	0	\$ -		Brand Mandated		Guestroom Accessories
0081294	Shower Curtain Liner, 100% Polyester, Snap-In, Hook-Free, 71x69, White	Stocked	12	CS	\$ 92.88	0	\$ -		Brand Mandated		Guestroom Accessories
0710056	Protect360™ Herringbone Shower Curtain, Snap-In Liner, Hook Free, Antimicrobial Poly, 71x77, White	Stocked	1	DZ	\$ 376.66	0	\$ -		Meets Brand Standard		Guestroom Accessories
Shower Rods											
0058606	Crescent Rod Curved Shower Rod, 5 Feet, Brushed Nickel	Stocked	6	EA	\$ 25.78	0	\$ -				Guestroom Accessories
0058607	Crescent Rod Curved Shower Rod, 6 Feet, Polished Stainless	Drop-Ship	6	EA	\$ 30.09	0	\$ -				Guestroom Accessories
Bathtub											
0036222	Rubbermaid® Sali-Grip® Bath Mat, Medium, 22.5x14, White	Stocked	12	CS	\$ 70.63	0	\$ -				Guestroom Accessories
0036223	Rubbermaid® Sali-Grip® Bath Mat, Large, 28x16, White	Stocked	12	CS	\$ 104.91	1	\$ 104.91				Guestroom Accessories
0009507	Jessup® Flex Track® Non-Slip Bath Mat, 16x34, White	Stocked	6	CS	\$ 48.59	0	\$ -				Guestroom Accessories
Shower Seats											
0062145	Wingtub® Reversible L-Shaped Shower Seat, Permanent Mount, White Phenolic Top WSLX280222PWREV	Drop-Ship	1	EA	\$ 311.44	0	\$ -				Furniture Fixtures & Equipment
0065802	Wingtub® Portable Tub Bench, Phenolic White, Exceeds all Building Codes, and ADA Criteria	Drop-Ship	1	EA	\$ 315.01	2	\$ 630.02			4 rooms with tub	Furniture Fixtures & Equipment
Hair Dryers and Bag											
0015649	Hair Dryer Bag with Nylon Handle, Natural	Stocked	50	CS	\$ 114.49	3	\$ 343.47		Meets Brand Standard		Electronics and Appliances
0020692	Conair® Hair Dryer, 1875 Watt, Hand-Held, White (Good)	Stocked	4	EA	\$ 19.99	0	\$ -		Meets Brand Standard		Electronics and Appliances
0020693	Conair® Hair Dryer, 1875 Watt, Hand-Held, Black (Good)	Stocked	1	EA	\$ 19.99	0	\$ -		Meets Brand Standard		Electronics and Appliances
0009746	Conair® Soft Surface Turbo Hair Dryer, 1875 Watt, Hand Held, Black (Better)	Stocked	1	EA	\$ 28.68	0	\$ -		Meets Brand Standard		Electronics and Appliances
0015967	Conair® Hair Dryer, 1875 Watt, Hand Held, Chrome Barrel (Better)	Stocked	1	EA	\$ 32.13	0	\$ -		Meets Brand Standard		Electronics and Appliances
0015332	Conair® Hair Dryer, 1875 Watt, Hand Held, Brushed Chrome (Best)	Stocked	1	EA	\$ 36.90	130	\$ 4,797.00		Meets Brand Standard		Electronics and Appliances
Facial Tissue											
0010194	Georgia-Pacific Angel Soft pss Premium Facial Tissue, Cube Box, 96 Count, White	Stocked	36	CS	\$ 36.67	4	\$ 146.68		Meets Brand Standard		Paper and Washroom Items
0035068	Georgia-Pacific Angel Soft® pss Premium Facial Tissues, PolyFlex Format, 96 Sheets, White	Stocked	54	CS	\$ 56.70	0	\$ -		Meets Brand Standard		Paper and Washroom Items
0020580	Kleenex® Boutique 2-Ply Facial Tissue 95 Sheets / 36 Box	Stocked	36	CS	\$ 43.64	0	\$ -		Meets Brand Standard		Paper and Washroom Items
Bath Tissue											
0010192	Georgia-Pacific Angel Soft pss 2-Ply Premium Embossed Bath Tissue, 450 Sheet Count, White	Stocked	80	CS	\$ 52.90	5	\$ 264.50	1	Meets Brand Standard		Paper and Washroom Items
0014517	Scott's 2-Ply Bathroom Tissue, 550 Sheets, White	Stocked	80	CS	\$ 51.34	0	\$ -		Meets Brand Standard		Paper and Washroom Items
Vanity Mirror											
0028490	Vanity Top Double Side LED Make Up Mirror, 1x1/5x Magnification, 13in H, Matte Nickel Finish	Drop-Ship	4	EA	\$ 72.17	0	\$ -			Part of FFE	Guestroom Accessories
0028491	Vanity Top Double Side LED Make Up Mirror, 1x1/5x Magnification, 15.5in H, Polished Chrome Finish	Drop-Ship	4	EA	\$ 81.80	0	\$ -				Guestroom Accessories
Guestroom Accessories											
Stainless Steel / Leather Collection											
0015485	Note Pad & Pen Holder, 3-7/8Wx4-3/8Lx3/4H, Stainless Steel	Stocked	48	CS	\$ 354.62	3	\$ 1,064.46		Meets Brand Standard	Not required in room, but need to have avail	Guestroom Accessories
Cortland Collection											
	Metro Leathersette Tray, Black	Stocked	8	CS	\$ 151.52	0	\$ -				Guestroom Accessories
0076105	Cortland Ice Bucket 2 Quart, Black	Drop-Ship	4	cs	\$ 114.38	0	\$ -	0		Listed on Budget, BS are not specific	Guestroom Accessories
In-room Wastebasket Options											
0044950	Black Cordoba Wastebasket (Required in the Guestroom)	Stocked	6	CS	\$ 147.55	0	\$ -	-21	Brand Mandated		Guestroom Accessories
0076109	Saddle Rock Collection Dual Recycle, 28 quart, tan	Drop-Ship	2	CS	\$ 156.59	0	\$ -			In FFE Budget	Guestroom Accessories
0044954	Black Cordoba Wastebasket Liner - Set of 2 - One White Liner and One Black Liner	Stocked	6	CS	\$ 63.99	0	\$ -	-21	Brand Mandated		Guestroom Accessories
0044955	Cordoba Wastebasket Liners - Set of 2 - One Brown Liner and One Green Liner with Recycle Logo	Stocked	6	CS	\$ 63.99	0	\$ -		Brand Mandated		Guestroom Accessories
Additional Guestroom Accessories											
0074008	Home HW22 Alarm Clock with Wireless Charging and 2 USB Charging Ports, Black	Stocked	6	EA	\$ 48.98	0	\$ -		Brand Mandated		Electronics and Appliances
0039333	Home HBH36B Alarm Clock with Bluetooth and 2 USB Charging Ports, Black	Stocked	1	EA	\$ 88.22	0	\$ -				Electronics and Appliances
0070380	Home HW5B Bluetooth Alarm Clock with Qi Wireless Charging and 2 USB Ports, Black	Stocked	1	EA	\$ 96.62	0	\$ -				Electronics and Appliances
0078638	Station P Wireless Charging Station, Black	Stocked	12	CS	\$ 461.85	0	\$ -		Brand Mandated		Electronics and Appliances
0066484	NonStop Station W Alarm Clock w/USB, USB-C & Qi wireless Charging Black	Stocked	8	EA	\$ 60.57	0	\$ -		Meets Brand Standard		Electronics and Appliances
0066583	NonStop Station A Alarm Clock with Qi Wireless Charging, USB and USB-C, Black	Drop-Ship	1	EA	\$ 69.44	0	\$ -				Electronics and Appliances
018930	Glass Room Tumbler, Presidential Style, 10-3/4oz	Stocked	36	CS	\$ 39.37	0	\$ -		Meets Brand Standard		Food, Beverages, and More
014160	Glass Room Tumbler, Rocks Style, 8oz	Stocked	72	CS	\$ 60.37	6	\$ 362.22		Meets Brand Standard		Food, Beverages, and More
0001020	Sonoco Stancap® Glass Cover, 79mm, Non-Logo (goes well with item 0138028)	Stocked	900	CS	\$ 58.01	0	\$ -		Meets Brand Standard		Food, Beverages, and More
0003316	Sonoco Stancap® Glass Cover, 82mm, Non-Logo (goes well with item 016930)	Stocked	900	CS	\$ 40.96	0	\$ -				Food, Beverages, and More
0025173	Sonoco Stancap® Glass Cover, 82.5mm, Non-Logo	Stocked	800	CS	\$ 58.48	0	\$ -				Food, Beverages, and More
0030872	Sonoco Stancap® Glass Cover, 69mm, Non-Logo	Stocked	1500	CS	\$ 85.65	0	\$ -				Food, Beverages, and More
SC187	Sonoco Stancap® Glass Cover, 78mm, Non-Logo (goes well with item 0138028)	Stocked	1000	CS	\$ 39.65	0	\$ -		Meets Brand Standard		Food, Beverages, and More
0022943	Ice Bucket Liner, Clear Roll	Stocked	2000	CS	\$ 12.98	1	\$ 12.98				Janitorial and Housekeeping
0035762	Ecoball® Keystone Sainl Shine Stainless Steel Cleaner & Polish All-Based, Aerosol 16oz, #06100430	Stocked	12	CS	\$ 53.01	0	\$ -				Janitorial and Housekeeping
In-Room Fridge											
0062055	Danby® Designer Compact All Refrigerator, 1.7 Cu Ft, Black	Stocked	1	EA	\$ 175.93	0	\$ -		Meets Brand Standard	Part of FFE budget	Electronics and Appliances
0059200	Absocond® Suite Fridge® Hospitality All-Refrigerator, 1.0 Cu Ft, Auto-Defrost, Black	Drop-Ship	1	EA	\$ 309.36	0	\$ -		Meets Brand Standard		Electronics and Appliances
In-Room Microwave											
0071081	Danby® Microwave with Touch Pad, 0.7 Cu Ft, 700 Watts, Black	Stocked	1	EA	\$ 101.75	0	\$ -		Meets Brand Standard		Electronics and Appliances
Mattresses (Lead Time 3-4 Weeks) - Mattresses/Foundations are Non-Returnable											
Bedding											
Mattress Pads											

0039004	Boutique Mattress Topper Quilted 12 oz Blended Top & Bottom, Full XL/DL XL, 54x80, Filled Skirt	Stocked	4	EA	\$ 29.03	0	\$ -		Brand Mandated	Textiles and Linens
0039005	Boutique Mattress Topper Quilted 12 oz Blended Top & Bottom, Queen 60x80, Filled Skirt	Stocked	4	EA	\$ 31.46	104	\$ 3,271.84		Brand Mandated	Textiles and Linens
0039006	Boutique Mattress Topper Quilted 12 oz Blended Top & Bottom, Hotel King 72x80, Filled Skirt	Stocked	4	EA	\$ 35.37	84	\$ 2,971.08		Brand Mandated	Textiles and Linens
0039007	Boutique Mattress Topper Quilted 12 oz Blended Top & Bottom, King 76x80, Filled Skirt	Stocked	4	EA	\$ 37.99	0	\$ -		Brand Mandated	Textiles and Linens
Sheeting										
0710382	Hilton T307 Supreme Sateen Flat Sheet, 62% Cotton/ 38% Polyester, Twin, 66X105, White	Stocked	12	CS	\$ 112.58	0	\$ -		Brand Mandated	Textiles and Linens
0710385	Hilton T307 Supreme Sateen Flat Sheet, 62% Cotton/ 38% Polyester, Full, 94X115, White	Stocked	12	CS	\$ 163.43	0	\$ -		Brand Mandated	Textiles and Linens
0710386	Hilton T307 Supreme Sateen Flat Sheet, 62% Cotton/ 38% Polyester, 96X115, Queen, White	Stocked	12	CS	\$ 170.68	24	\$ 4,096.32		Brand Mandated	Textiles and Linens
0710387	Hilton T307 Supreme Sateen Flat Sheet, 62% Cotton/ 38% Polyester, 114X115, King, White	Stocked	12	CS	\$ 184.01	20	\$ 3,680.20		Brand Mandated	Textiles and Linens
0710389	Hilton T307 Supreme Sateen Fitted Sheets, 62% Cotton/ 38% Polyester, Full, 54X80, White	Stocked	12	CS	\$ 163.94	0	\$ -		Brand Mandated	Textiles and Linens
0710390	Hilton T307 Supreme Sateen Fitted Sheet, 62% Cotton/ 38% Polyester, Queen, 60X80, White	Stocked	12	CS	\$ 146.47	25	\$ 3,661.75		Brand Mandated	Textiles and Linens
0710391	Hilton T307 Supreme Sateen Fitted Sheet, 62% Cotton/ 38% Polyester, King, 76X80, White	Stocked	12	CS	\$ 170.33	21	\$ 3,576.93		Brand Mandated	Textiles and Linens
Pillowcases										
0710392	Hilton T307 Supreme Sateen Pillowcase, 62% Cotton / 38% Polyester, Jumbo 21x32 with 4" hem, White	Stocked	72	CS	\$ 163.95	0	\$ -		Brand Mandated	Textiles and Linens
0710393	Hilton T307 Supreme Sateen Pillowcase, 62% Cotton / 38% Polyester, Queen 21x34 with 4" hem, White	Stocked	72	CS	\$ 171.19	0	\$ -		Brand Mandated	Textiles and Linens
0710394	Hilton T307 Supreme Sateen Pillowcase, 62% Cotton / 38% Polyester, King 21x42 with 4" hem, White	Stocked	72	CS	\$ 211.66	0	\$ -		Brand Mandated	Textiles and Linens
Pillow Protectors										
0018956	Centex T180 Blend, Jumbo/Queen Pillow Protector 21x30, Zipper Closure, Plain White Weave	Stocked	6	DZ	\$ 24.06	18	\$ 433.08		Brand Mandated	Textiles and Linens
0025827	Centex T180 Blend Plain Weave, Jumbo/Queen Pillow Protector 21x30, Zipper Closure, White/Gray Corduroy	Stocked	6	DZ	\$ 29.47	18	\$ 530.46		Brand Mandated	Textiles and Linens
0018958	Centex T180 Blend, King Pillow Protector 20x36, Zipper Closure, Plain White Weave	Stocked	6	DZ	\$ 26.72	18	\$ 480.96		Brand Mandated	Textiles and Linens
0025828	Centex T180 Blend Plain Weave, King Pillow Protector 20x36, Zipper Closure, White w/ Gray Corduroy	Stocked	6	DZ	\$ 34.01	18	\$ 612.18		Brand Mandated	Textiles and Linens
Soft Pillows										
0039128	Temperloft Pillow Down/Down Alt Fil 7233 Cotton Cover, Jumbo 20x28, 33.5 oz, White	Stocked	12	EA	\$ 13.98	0	\$ -		Brand Mandated	Textiles and Linens
0039129	Temperloft Pillow Down/Down Alt Fil 7233 Cotton Cover, Queen 20x30, 37 oz, White	Stocked	12	EA	\$ 16.36	204	\$ 3,337.44		Brand Mandated	Textiles and Linens
0039130	Temperloft Pillow Down/Down Alt Fil 7233 Cotton Cover, King 20x36, 44 oz, White	Stocked	12	EA	\$ 18.22	168	\$ 3,060.96		Brand Mandated	Textiles and Linens
Soft Pillows - Upgrade Option										
0025139	Down Dreams Classic Pillow, Feather & Down Fil, 7233 Cotton Cover, Jumbo 20x28, 33.5 oz, White	Stocked	12	EA	\$ 16.63	0	\$ -			Textiles and Linens
0027838	Down Dreams Classic Pillow, Feather & Down Fil, 7233 Cotton Cover, Queen 20x30, 37 oz, White	Stocked	12	EA	\$ 21.19	24	\$ 508.56			Textiles and Linens
0025137	Down Dreams Classic Pillow, Feather & Down Fil, 7233 Cotton Cover, King 20x36, 44 oz, White	Stocked	12	EA	\$ 21.52	24	\$ 516.48			Textiles and Linens
Firm Pillows										
0025138	Down Dreams Classic Pillow, Feather/Down Fil, 7233 Cotton Cover, Jumbo 20x28, 43.5 oz, White	Stocked	12	EA	\$ 20.56	0	\$ -		Brand Mandated	Textiles and Linens
0028658	Down Dreams Classic Firm Pillow, Feather & Down Fil, 7233 Cotton Cover, Queen 20x30, 47 oz, White	Stocked	12	EA	\$ 24.16	204	\$ 4,928.64		Brand Mandated	Textiles and Linens
0025136	Down Dreams Classic Firm Pillow, Feather/Down Fil, 7233 Cotton Cover, King 20x36, 56.12oz	Stocked	12	EA	\$ 25.30	168	\$ 4,250.40		Brand Mandated	Textiles and Linens
Available Upon Request - Firm Pillows										
0042967	Dream Memories Pillow, Memory® Fiber, 7233 Cotton Cover, Jumbo 20x28, 32 oz, White	Stocked	12	EA	\$ 9.49	0	\$ -		Brand Mandated	Textiles and Linens
0028237	Dream Memories Pillow, Memory® Fiber, 7233 Cotton Cover, Queen 20x30, 34 oz, White	Stocked	12	EA	\$ 10.91	24	\$ 261.84		Brand Mandated	Textiles and Linens
0028238	Dream Memories Pillow, Memory® Fiber, 7233 Cotton Cover, King 20x36, 44 oz, White	Stocked	12	EA	\$ 12.84	24	\$ 308.16		Brand Mandated	Textiles and Linens
Decorative Top Sheets, Duvet Covers, and Duvet Inserts										
Duvet Inserts / Comfortors/Blankets										
0035131	Temperloft Comfortor Down/Down Alt Fil 7233 Cotton Shell, Full XL/Double XL 86x98, 29 oz, White	Stocked	8	EA	\$ 72.84	0	\$ -		Meets Brand Standard	Textiles and Linens
0035132	Temperloft Comfortor Down/Down Alt Fil 7233 Cotton Shell, Queen 93x98, 29.5 oz, White	Stocked	7	EA	\$ 75.62	105	\$ 7,940.10		Meets Brand Standard	Textiles and Linens
0039133	Temperloft Comfortor Down/Down Alt Fil 7233 Cotton Shell, King 105x98, 33 oz, White	Stocked	8	EA	\$ 83.39	84	\$ 7,004.76		Meets Brand Standard	Textiles and Linens
TBA	Duvet Cover, King, 105 x 94	Drop-Ship	12	CS	\$ 1,082.40	0	\$ -			Textiles and Linens
TBA	Duvet Cover, Queen, 96x94	Drop-Ship	12	CS	\$ 990.00	0	\$ -			Textiles and Linens
Mattress Encasements										
0024211	Protect-A-Bed Bug-Loak Plus Top Surface Waterproof Encasement, Fits Twin XL Size 8-10" D, 38x80x8	Drop-Ship	4	EA	\$ 27.32	0	\$ -			Textiles and Linens
0024213	Protect-A-Bed Bug-Loak Plus Top Surface Waterproof Encasement, Fits Full XL Size 8-10" D, 54x80x8	Drop-Ship	4	EA	\$ 34.73	0	\$ -			Textiles and Linens
0024214	Protect-A-Bed Bug-Loak Plus Top Surface Waterproof Encasement, Fits Queen Size 10-12" D, 60x80x10	Drop-Ship	4	EA	\$ 39.17	104	\$ 4,073.68			Textiles and Linens
0024215	Protect-A-Bed Bug-Loak Plus Top Surface Waterproof Encasement, Fits King Size 10-12" D, 76x80x10	Drop-Ship	4	EA	\$ 39.17	84	\$ 3,290.28			Textiles and Linens
Closet										
Hangers - Minimum of 5 per Men and Women hanger										
0077014	Draw Tape Laundry Bag, White	Stocked	1000	CS	\$ 78.66	2	\$ 157.32		Meets Brand Standard	Guestroom Accessories
MH010	Hanger, Flat Open Hook with Clips, Womens, Natural with Nickel Hook & Clips	Stocked	100	CS	\$ 120.85	0	\$ -	-7	Meets Brand Standard	Guestroom Accessories
MH011	Hanger, Flat Open Hook with Dowel Bar, Mens, Natural with Nickel Hook	Stocked	100	CS	\$ 87.61	0	\$ -	-7	Meets Brand Standard	Guestroom Accessories
019312	Hanger, Open Hook Contour with Locking Bar, Mens, Walnut with Nickel Hook	Stocked	100	CS	\$ 141.49	7	\$ 990.43		Meets Brand Standard	Guestroom Accessories
019313	Hanger, Open Hook Contour with Clips, Womens, Walnut with Nickel Hook & Clips	Stocked	100	CS	\$ 157.76	7	\$ 1,104.32		Meets Brand Standard	Guestroom Accessories
019281	Hanger, Open Hook Contour with Locking Bar, Mens, Walnut with Brass Hook	Stocked	100	CS	\$ 148.13	0	\$ -		Meets Brand Standard	Guestroom Accessories
019282	Hanger, Open Hook Contour with Clips, Womens, Walnut with Brass Hook & Clips	Stocked	100	CS	\$ 167.17	0	\$ -		Meets Brand Standard	Guestroom Accessories
Irons										
0018468	Hamilton Beach® Lightweight Iron, Auto-Off, Sprayer, White/Blue	Stocked	4	EA	\$ 27.23	0	\$ -		Meets Brand Standard	Electronics and Appliances
0024170	Hamilton Beach® Lightweight Hospitality Iron, Automatic Shut-Off, Black	Stocked	4	EA	\$ 27.23	0	\$ -		Meets Brand Standard	Electronics and Appliances
0043323	Hamilton Beach® 14210R Nonstick Iron with Retractable Cord	Stocked	4	EA	\$ 34.02	12	\$ 408.24		Meets Brand Standard	Electronics and Appliances
0018854	Hamilton Beach® Midsize Iron with Retractable Cord, White/Blue	Stocked	4	EA	\$ 34.02	0	\$ -		Meets Brand Standard	Electronics and Appliances
0042874	Conair CS388WH Garment Steamer	Stocked	2	CS	\$ 118.38	65	\$ 7,694.70			Electronics and Appliances
Ironing Board Accessories										
0000733	Rubbermaid® Ironing Board Organizer, White (shown in retractable cord view)	Stocked	6	EA	\$ 13.40	12	\$ 160.80		Meets Brand Standard	Guestroom Accessories
0026205	Hamilton Beach® Iron Organizer, White	Drop-Ship	4	EA	\$ 15.14	0	\$ -			Guestroom Accessories
0042875	Conair Handheld Steamer Bag	Stocked	4	CS	\$ 55.60	33	\$ 1,834.80			Guestroom Accessories
Ironing Boards & Covers										
0033966	Premium Ironing Board, 33x13, Blue	Stocked	4	EA	\$ 31.73	0	\$ -		Meets Brand Standard	Guestroom Accessories
0033967	Premium Ironing Board, 33x13, Charcoal Cover w/Black Legs	Stocked	4	EA	\$ 31.73	12	\$ 380.76	-116	Meets Brand Standard	Guestroom Accessories
0009567	Homz® EasyBoard Ironing Board, 13x53, Khaki Pearl Cover	Stocked	4	EA	\$ 27.20	0	\$ -		Meets Brand Standard	Guestroom Accessories
0030130	Bungee Ironing Board Cover, 13x53 to 15x55, Khaki	Stocked	12	CS	\$ 100.57	0	\$ -		Meets Brand Standard	Guestroom Accessories
0009568	Homz® EasyBoard Ironing Board, 13x53, Blue Pearl Cover	Stocked	4	EA	\$ 27.20	0	\$ -		Meets Brand Standard	Guestroom Accessories
0030131	Bungee Ironing Board Cover, 13x53 to 15x55, Blue	Stocked	12	CS	\$ 100.41	0	\$ -		Meets Brand Standard	Guestroom Accessories
0030132	Bungee Ironing Board Cover, 14x54, Charcoal	Stocked	12	CS	\$ 100.19	0	\$ -		Meets Brand Standard	Guestroom Accessories
Luggage Rack										
0072306	Metal High Back Luggage Rack with Wall Guard, Chrome with Black Straps	Stocked	4	CS	\$ 158.31	0	\$ -		Meets Brand Standard	Guestroom Accessories
0017126	Reserve Wood® High Back Luggage Rack/Magatory with Black Straps and Feet™	Drop-Ship	4	CS	\$ 162.04	33	\$ 5,347.32		Meets Brand Standard	Looking at a built in option do we need these
Bathrobes and Slippers										
0028830	Pacific Bay Terry Velour Robe, Kimono Style, 100% Cotton, 48in L, 12oz, White	Stocked	10	EA	\$ 29.15	0	\$ -	-130	Meets Brand Standard	Textiles and Linens
0028704	Pacific Bay Microfibre Robe, Shawl Collar, French Terry Lined, 52in L, White	Stocked	12	EA	\$ 49.62	0	\$ -		Meets Brand Standard	Textiles and Linens
0009941	Slippers, Imported Open Toe Terry, PVC Sole, Womens, White	Stocked	25	PR	\$ 4.93	0	\$ -		Meets Brand Standard	Textiles and Linens
0034127	Terry Slippers, Closed Toe, 11in L, 200 GSM, White	Stocked	2	PR	\$ 0.95	0	\$ -	-120	Meets Brand Standard	Textiles and Linens
0014314	Connoisseur® Womens Closed Toe, Cut Pile Terry Slippers, Dotted Fabric Sole, White	Stocked	1	PR	\$ 2.16	0	\$ -	-240	Meets Brand Standard	Textiles and Linens
Sofa Bed and Guest Request										
0016479	Fairview® Blanket & Pillow Storage Bag, Large 23"W x 23"L x 6"H, Vinyl Zipper, Clear	Stocked	36	CS	\$ 54.04	4	\$ 216.16		Meets Brand Standard	Textiles and Linens
0018926	Connoisseur® Micro Velour Blanket, Queen 90x90, 4.6 lbs, Ivory	Stocked	4	EA	\$ 35.62	128	\$ 4,559.36		Meets Brand Standard	Textiles and Linens
0018927	Connoisseur® Micro Velour Blanket, Queen 90x90, 4.6 lbs, Sage	Stocked	4	EA	\$ 35.62	0	\$ -		Meets Brand Standard	Textiles and Linens
In-Room Safes										
0064695	Global Safe 15" Laptop Top Opening Drawer Safe	Drop-Ship	1	EA	\$ 273.47	0	\$ -			In FF Budget
0055069	Global 12in Pedestal For Safe (use with item 0057198)	Drop-Ship	1	EA	\$ 18.00	0	\$ -			Furniture Fixtures & Equipment
0057199	Global Plus A Magnetic Card Swipe Safe	Drop-Ship	1	EA	\$ 176.93	0	\$ -			Furniture Fixtures & Equipment
In-Room Coffee Program										
Coffeemakers										
0040787	Hamilton Beach® Single Serve K-Cup Brewer	Stocked	1	EA	\$ 59.22	0	\$ -		Meets Brand Standard	Electronics and Appliances
0016251	Cuisinart® Dual Cup Single Brew Coffeemaker, Black/Silver	Stocked	1	EA	\$ 56.96	0	\$ -	-128	Meets Brand Standard	Electronics and Appliances
Coffee Bean and Tea Leaf Pods										
0035391	The Coffee Bean & Tea Leaf® (CBTL) Coffee Pods, Regular	Stocked	1000	CS	\$ 284.67	0	\$ -	-8	Meets Brand Standard	Food, Beverages, and More
0035392	The Coffee Bean & Tea Leaf® (CBTL) Coffee Pods, Decaffeinated	Stocked	500	CS	\$ 148.95	0	\$ -	-2	Meets Brand Standard	Food, Beverages, and More
0029009	The Coffee Bean & Tea Leaf® English Breakfast Tea	Stocked	250	CS	\$ 47.83	2	\$ 95.66		Meets Brand Standard	Food, Beverages, and More
0029010	The Coffee Bean & Tea Leaf® Chamomile Tea	Stocked	250	CS	\$ 47.83	2	\$ 95.66		Meets Brand Standard	Food, Beverages, and More
K Cups										
0043460	Twinings English Breakfast Tea K-Cup, Regular	Stocked	96	CS	\$ 50.53	0	\$ -			Food, Beverages, and More

0043463	Twinnings Green Tea K-Cup, Regular	Stocked	96	CS	\$ 50.53	0	\$ -			Food, Beverages, and More
0027208	Green Mountain Coffee® Breakfast Blend Coffee K-Cup®, Decaffeinated	Stocked	96	CS	\$ 58.78	0	\$ -			Food, Beverages, and More
0027207	Green Mountain Coffee® Breakfast Blend Coffee K-Cup®, Regular	Stocked	96	CS	\$ 58.78	0	\$ -			Food, Beverages, and More
0027215	Green Mountain Coffee® Columbian Fair Trade Select Coffee K-Cup®, Regular	Stocked	96	CS	\$ 58.78	0	\$ -			Food, Beverages, and More
0027210	Green Mountain Coffee® Dark Magic Extra Bold Coffee K-Cup®, Regular	Stocked	96	CS	\$ 58.78	0	\$ -			Food, Beverages, and More
0028078	Starbucks® Pike Place® Roast Coffee K-Cup®, Decaffeinated	Stocked	96	CS	\$ 90.89	0	\$ -			Food, Beverages, and More
0028065	Starbucks® Pike Place® Roast Coffee K-Cup®, Regular	Stocked	96	CS	\$ 89.22	0	\$ -			Food, Beverages, and More
Condiments										
0022561	Beverage Napkins, 1-Ply, 1/4 Fold, 9x9, White	Stocked	4000	cs	\$ 27.95	1	\$ 27.95			Meets Brand Standard
0079716	Sugar Packets	Stocked	2000	CS	\$ 21.13	3	\$ 63.39			Meets Brand Standard
VSA100	Equal® Sweetener Packet	Stocked	2000	CS	\$ 39.65	1	\$ 39.65			Meets Brand Standard
0029953	Equal® Sucralose Sweetener, Yellow Packets	Stocked	2000	CS	\$ 39.65	0	\$ -			Meets Brand Standard
0030732	Nestlé® Coffee-mate® Liquid Creamer, Original Flavor	Stocked	360	CS	\$ 30.85	4	\$ 123.40			Meets Brand Standard
0042931	Coffee Stirrer, Wood, 5.5in, Individually Wrapped, 5000/Case	Stocked	5000	CS	\$ 46.71	1	\$ 46.71			Meets Brand Standard
Hot Cups										
0035397	The Coffee Bean & Tea Leaf® FSC Paper Hot Cup 10oz, Brown, Wrapped	Stocked	1000	CS	\$ 84.32	3	\$ 252.96			Meets Brand Standard
0029012	The Coffee Bean & Tea Leaf® Lid Fits 10oz Cup, Black	Stocked	1000	CS	\$ 40.69	3	\$ 122.07			Meets Brand Standard
0035395	The Coffee Bean & Tea Leaf® Sleeve for 10oz Cup, Kraft	Stocked	1000	CS	\$ 57.77	3	\$ 173.31			Meets Brand Standard
	Generic Double Wall Paper Cup, White, 10oz, Wrapped	Stocked	500	CS	\$ 61.52	0	\$ -			Meets Brand Standard
0077240	Wrapped Double Wall Cup, Black, 9oz	Stocked	900	CS	\$ 117.03	0	\$ -			Meets Brand Standard
Front Desk										
0034131	Oral-B® Toothbrush, 40 Medium, White	Stocked	72	cs	\$ 62.41	0	\$ -			Meets Brand Standard
0014496	Colgate Total® Clean Mint Toothpaste 9.75oz	Stocked	24	CS	\$ 9.89	2	\$ 19.78			Meets Brand Standard
5089900004	Razor, Disposable Twin Blade, Blue Handle	Stocked	144	CS	\$ 12.24	1	\$ 12.24			
0007594	Razor, Twin Blade, Individually Wrapped	Stocked	500	CS	\$ 61.00	0	\$ -			
0018742	Gillette® Shave Cream Aerosole 2oz	Stocked	48	CS	\$ 41.60	2	\$ 83.20			
0007973	Freshacne® Shave Cream Aerosole 1.5oz	Stocked	144	CS	\$ 101.48	0	\$ -			
0015265	Freshacne® Shave Cream Packets 0.25oz	Stocked	1000	CS	\$ 43.68	0	\$ -			
0032390	Secret Deodorant, Powder Fresh Scent 0.5oz	Stocked	24	CS	\$ 26.16	2	\$ 52.32			
0032389	Old Spice® Sport Deodorant 0.5oz	Stocked	24	CS	\$ 23.64	2	\$ 47.28			
0018412	Comb, Individually Wrapped, Black	Stocked	144	BX	\$ 5.35	1	\$ 5.35			Meets Brand Standard
RRTB50	Toothbrush, Individually Wrapped, White	Stocked	144	BX	\$ 10.57	1	\$ -			Meets Brand Standard
0030029	TRESemmé® Hair Spray 2oz	Stocked	24	CS	\$ 72.69	1	\$ 72.69			
0023379	Diamond Wipes® Nail Polish Remover Pads, Individually Wrapped, 1.875x2.75	Stocked	500	CS	\$ 30.27	1	\$ 30.27			
0006905	La Fresh® Make-Up Remover Wipes, Individually Wrapped	Stocked	200	BX	\$ 22.00	2	\$ 44.00			
9709000002	Colton Balls 4 in Poly Bag	Stocked	500	CS	\$ 37.57	0	\$ -			
97190900002	Ear Swabs 4 in Poly Bag	Stocked	500	BX	\$ 21.92	0	\$ -			
0043129	Medline Extra-Wide Wheelchair, Detachable Footrests Included	Drop-Ship	1	EA	\$ 597.59	1	\$ 597.59			
0001746	ADA (American Disabilities Act) K9 #2	Stocked	1	EA	\$ 488.04	2	\$ 976.08			
0001142	Hilton Sleep® Mobile Twin Sweet Sleeper, Brown (Mattress Sold Separately)	Drop-Ship	1	EA	\$ 1,053.40	2	\$ 2,106.80			
0066472	Slate Dreams NXT Flush, 1 Sided, Twin 38x75 Mattress Only	Drop-Ship	1	EA	\$ 301.64	2	\$ 603.28			
Lobby / Breakfast Area										
0035396	The Coffee Bean & Tea Leaf® FSC Paper Hot Cup 10oz, Brown, Unwrapped	Stocked	1000	CS	\$ 67.51	2	\$ 135.02			Meets Brand Standard
0029012	The Coffee Bean & Tea Leaf® Lid Fits 10oz Cup, Black	Stocked	1000	CS	\$ 40.69	2	\$ 81.38			Meets Brand Standard
0035395	The Coffee Bean & Tea Leaf® Sleeve for 10oz Cup, Kraft	Stocked	1000	CS	\$ 57.77	2	\$ 115.54			Meets Brand Standard
0043127	Hilton Ecotainer® Paper Hot Cup 10oz, Unwrapped	Stocked	1000	CS	\$ 103.33	0	\$ -			
0040325	Kanak Double Wall White Paper Cup, 12 oz, Unwrapped	Stocked	500	CS	\$ 64.10	0	\$ -			Meets Brand Standard
0018687	Ecotainer® Dome Sip Lid for 10-24 oz Cup (Both SFI & Eco), Black	Stocked	1200	CS	\$ 43.53	0	\$ -			Meets Brand Standard
0020334	Cup Buddy® Hot Cup Sleeve, Plain Stock, Fits 10-24oz Cups	Stocked	1200	CS	\$ 71.60	0	\$ -			Meets Brand Standard
0028986	Hold&Go® Double Wall Paper Hot Cup 12oz, Old World Design, Unwrapped	Stocked	600	CS	\$ 116.07	0	\$ -			Meets Brand Standard
0026407	Hold&Go® Dome Lock-Back Hot Cup Lid, Fits 12-20oz Cups, Black	Stocked	1200	CS	\$ 44.50	0	\$ -			Meets Brand Standard
0008794	Rubbermaid® Tray for Sturdy Chair Youth Seat Platinum	Drop-Ship	1	EA	\$ 38.20	2	\$ 76.40			How many does PI have?
0010264	Rubbermaid® Sturdy Chair Youth Seat with Wheels, Black	Stocked	1	EA	\$ 178.49	2	\$ 356.98			Meets Brand Standard
Cribs & Accessories										
Coverplay										
0041913	COVERPLAY® Play Yard, Gray	Stocked	1	EA	\$ 104.65	4	\$ 418.60			Brand Mandated
0070802	COVERPLAY® Tuffy Play Yard Slipcover, Gray	Stocked	24	CS	\$ -	0	\$ -			Brand Mandated
0081541	Coverplay Slipcover for Play Yard, White	Stocked	6	CS	\$ 342.07	0	\$ -			Brand Mandated
0073855	Replacement Carry Bags for COVERPLAY Play Yard	Drop-Ship	6	CS	\$ 91.19	0	\$ -			Brand Mandated
0073854	Replacement Mattress Pad for COVERPLAY Play Yard	Drop-Ship	3	CS	\$ 99.37	0	\$ -			Brand Mandated
0076879	Coverplay® Caden Wood Folding Crib, Natural	Drop-Ship	1	EA	\$ 508.57	0	\$ -			Brand Mandated
0076878	Coverplay Caden Compact Folding Crib, White	Drop-Ship	1	EA	\$ 508.57	0	\$ -			Brand Mandated
0081544	Coverplay Replacement Mattress for 212Caden Compact Crib, White	Stocked	1	CS	\$ 64.30	0	\$ -			Brand Mandated
0081545	Coverplay Replacement Dust Cover for 212Caden and 212CONOR Crib, Black	Stocked	6	CS	\$ 79.50	0	\$ -			Brand Mandated
0079549	COVERPLAY Metal Folding Compact Crib with Gray Slipcover, White	Drop-Ship	1	EA	\$ 222.14	0	\$ -			Brand Mandated
0081540	Coverplay Slipcover for Play Yard, Gray	Stocked	6	CS	\$ 294.63	1	\$ 294.63			Brand Mandated
0081539	Coverplay Play Yard and Compact Crib Sheet, White with Black Print	Stocked	12	CS	\$ 107.56	1	\$ 107.56			Brand Mandated
0081496	COVERPLAY Jersey Knit Play Yard/Compact Crib Sheet, White, Case Pack 12	Stocked	12	CS	\$ 98.80	0	\$ -			Brand Mandated
Meeting Room										
Lead Time 4 to 6 Weeks										
0058133	Dry Erase Broad Medium Point Markers, Model LCS873, Assorted Colors (Red, Blue, Black, and Green)	Stocked	1	DZ	\$ 22.39	0	\$ -			
0058132	Dry Erase Fine Point Markers, Model LCS773, Assorted Colors (Red, Blue, Black, and Green)	Drop-Ship	1	DZ	\$ 26.95	0	\$ -			
0061124	Cheridge® Nuork Taskboard, 2x3, Tan Nuork with Aluminum Frame	Drop-Ship	1	EA	\$ 74.48	0	\$ -			
Business Center										
0021783	Wastebasket, 4 Gallon Round, Black	Drop-Ship	1	EA	\$ 32.74	0	\$ -			
Fitness Center										
0043792	2XL-73, G4 Wipe Stand with Trash Bucket, 37H x 18W x 17D, Stainless Steel	Stocked	1	EA	\$ 342.32	1	\$ 342.32			Brand Mandated
0017181	Fitness Hand Towel, 16x27, White With Blue Stripe	Stocked	10	DZ	\$ 9.90	100	\$ 990.00			Meets Brand Standard
0038203	Black Guardian Stand for Black Sanitizer Dispenser	Stocked	1	EA	\$ 235.05	0	\$ -			
0035046	Silver Guardian Stand for Black Sanitizer Dispenser	Stocked	1	EA	\$ 239.23	0	\$ -			
0038202	Black Hand Sanitizer Dispenser for use w/0035044	Stocked	6	CS	\$ 13.41	0	\$ -			
0035044	Stag2 Hand Sanitizer Refills	Stocked	4	CS	\$ 55.41	0	\$ -			
0035043	Force Antibacterial Refills	Stocked	1	EA	\$ 34.25	3	\$ 102.75			Brand Mandated
Pool Towels										
0028824	Connoisseur Pool & Beach Towel, Cotton Dobby Border, 35x70, 18.0 lbs/dz, 2in Stripes, Green/White	Stocked	2	DZ	\$ 94.78	0	\$ -			Meets Brand Standard
0028823	Connoisseur Pool & Beach Towel, Cotton Dobby Border, 35x70, 18.0 lbs/dz, 2in Stripes, Yellow/White	Stocked	2	DZ	\$ 94.78	0	\$ -			Meets Brand Standard
0028815	Connoisseur Pool & Beach Towel, Cotton Dobby Border, 35x70, 18.0 lbs/dz, 2in Stripes, Blue/White	Stocked	2	DZ	\$ 90.31	0	\$ -			Meets Brand Standard
0028817	Fairview Pool & Beach Towel, 100% Cotton, Woven Dobby Border, 34x70, 18.0 lbs/dz, Vanilla	Stocked	2	DZ	\$ 101.20	0	\$ -			Meets Brand Standard
0028819	Fairview Pool & Beach Towel, 100% Cotton, Woven Dobby Border, 34x70, 18.0 lbs/dz, Evergreen	Stocked	2	DZ	\$ 135.55	0	\$ -			Meets Brand Standard
0028818	Fairview Pool & Beach Towel, 100% Cotton, Woven Dobby Border, 34x70, 18.0 lbs/dz, Porcelain Blue	Stocked	2	DZ	\$ 93.34	0	\$ -			Meets Brand Standard
0028816	Fairview Pool & Beach Towel, 100% Cotton, Woven Dobby Border, 34x70, 18.0 lbs/dz, White	Stocked	2	DZ	\$ 104.93	0	\$ -			Meets Brand Standard
Luggage Cart (1 Cart Per 50 Rooms Minimum)										
0023927	Belman Cart, Estate Series, 8in Pneumatic Wheels, 27Wx48Lx71H, Stainless Steel with Black Carpet	Drop-Ship	1	EA	\$ 1,147.81	4	\$ 4,591.24			Meets Brand Standard
	Select Carpet/Bumper				\$ -					Belman only or have some self service?
0029492	Compact Luggage Carrier, Stainless Steel/Gray Carpet	Drop-Ship	1	EA	\$ 538.24	5	\$ 2,691.20			Meets Brand Standard

Back of House											\$ 36,571.29
Item #	Item Description	Drop Ship	Case Pack	UOM	Price Per UOM	Quantity Ordered	Extended Cost	Edit +/-	Brand Standard Code	Product Notes (limit 72 characters)	Product Category
CleanSlay - Hilton Lysoil Program - OPTIONAL											
0070676	Lysoil Disinfectant Spray, Crisp Linen Scent 19oz. Aerosol	Stocked	12	CS	\$ 82.87	0	\$ -		Meets Brand Standard		Janitorial and Housekeeping
0041592	Dual Chamber 25.5 Quart Washbasin/Receptacle Bin, Black	Drop-Ship	6	EA	\$ 57.70	0	\$ -		Meets Brand Standard		Janitorial and Housekeeping
0074411	InstaBin Pouch/Receptacle 13 Gallon Size, Multi-Use Waste Bins, Gray	Drop-Ship	26	EA	\$ 1.21	0	\$ -		Meets Brand Standard		Janitorial and Housekeeping
FEEL THE CLEAN Program											
EXTENDER POLE w/ Attachments											
0015564	Rubbermaid® HYGEN Microfiber Damp Room Mop Pad, 18in, Blue	Stocked	12	EA	\$ 6.40	0	\$ -				Janitorial and Housekeeping
DUSTERS											
0035724	Swift® Handheld Duster Kit	Stocked	6	CS	\$ 29.01	0	\$ -				Janitorial and Housekeeping
0035725	Swift® Handheld Duster Refills	Stocked	40	CS	\$ 36.44	0	\$ -				Janitorial and Housekeeping
0018697	Rubbermaid® Hygen® Microfiber Flat/Ward Dusting Sleeve, Green	Stocked	6	EA	\$ 7.65	0	\$ -				Janitorial and Housekeeping
0020701	Rubbermaid® Executive Series® Hygen® 22 In. Microfiber Flat-Ward Dusting Sleeve, White	Drop-Ship	6	EA	\$ 18.99	0	\$ -				Janitorial and Housekeeping
HAIR REMOVAL											
0079701	Evercare® Mega 10 IN Lint Roller w/ Extension Handle 25 Sheets	Stocked	4	CS	\$ 69.58	0	\$ -				Janitorial and Housekeeping
0033392	Evercare® Mega 10in Cleaning Roller Refill 50 Sheets	Stocked	3	CS	\$ 19.55	0	\$ -				Janitorial and Housekeeping
ERASERS											
0075785	Multi-Use Eraser 24CS	Stocked	24	CS	\$ 15.51	6	\$ 77.55				Janitorial and Housekeeping
MICROFIBER CLOTHS											
0017464	Rubbermaid® HYGEN 16x16 Microfiber Bathroom Cloth, Yellow	Stocked	12	CS	\$ 31.32	15	\$ 469.80				Janitorial and Housekeeping
0017463	Rubbermaid® HYGEN 16x16 Microfiber General-Purpose Cloth, Green	Stocked	12	CS	\$ 31.32	15	\$ 469.80				Janitorial and Housekeeping
0020947	Rubbermaid® Hygen® 16x16 In. Microfiber Cloth, Red	Drop-Ship	12	CS	\$ 26.94	15	\$ 404.10				Janitorial and Housekeeping
0020948	Rubbermaid® Hygen® 16x16 In. Microfiber Cloth, Blue	Drop-Ship	12	CS	\$ 26.94	15	\$ 404.10				Janitorial and Housekeeping
0032282	Better Brush® Euro Style, Plastic Bristle Toilet Bowl Brush, 11 In Handle, 3 In Diameter Head, White	Stocked	12	CS	\$ 33.04	0	\$ -				Janitorial and Housekeeping
RME631	Rubbermaid® 5 In. Toilet Brush Holder for RME310 Brush, White	Drop-Ship	24	CS	\$ 54.72	0	\$ -				Janitorial and Housekeeping
Employee Safety Items - New Hilton compliance date of December 31, 2021											
0066779	Max® Personal Alarm Key Chain, 130dB, Black	Drop-Ship	12	CS	\$ 104.22	2	\$ 208.44		Meets Brand Standard		PPE & Health Safety
Standard Housekeeping Cart Package											
Suncast											
0036336	Suncast Commercial® Standard Housekeeping Cart, 61.25" x 24" W x 49.75" H, Black	Drop-Ship	1	EA	\$ 496.89	0	\$ -		GS Recommended	Suggested 1 cart per 12 rooms	Janitorial and Housekeeping
0037185	Suncast Commercial® Amenity Collection Bag for Housekeeping Cart, Black	Drop-Ship	1	EA	\$ 33.98	0	\$ -		GS Recommended		Janitorial and Housekeeping
0037191	Suncast Commercial® Standard Bag for Housekeeping Cart, Black	Drop-Ship	1	EA	\$ 22.21	0	\$ -		GS Recommended		Janitorial and Housekeeping
0037190	Suncast Commercial® Nesting Carry Caddy for Housekeeping Cart, Black	Drop-Ship	1	EA	\$ 32.22	0	\$ -		GS Recommended		Janitorial and Housekeeping
0037188	Suncast Commercial® 8-Pocket Organizer Bag for Housekeeping Cart, Black	Drop-Ship	1	EA	\$ 18.71	0	\$ -		GS Recommended		Janitorial and Housekeeping
Rubbermaid											
0019117	Rubbermaid® Executive Full Size Housekeeping Cart, Traditional, Black	Stocked	1	EA	\$ 574.77	0	\$ -		GS Recommended		Janitorial and Housekeeping
0035793	Rubbermaid® 30 Gallon Canvas Bag, Vinyl Lining, Black	Stocked	4	EA	\$ 37.00	0	\$ -		GS Recommended		Janitorial and Housekeeping
0017255	Rubbermaid® Executive 8-Pocket Fabric Hanging Organizer, Black	Stocked	6	EA	\$ 33.64	0	\$ -		GS Recommended		Janitorial and Housekeeping
0019360	Rubbermaid® Deluxe Carry Caddy, Black	Stocked	6	EA	\$ 10.99	0	\$ -		GS Recommended		Janitorial and Housekeeping
Premium Housekeeping Cart Package											
Suncast											
0035337	Suncast Commercial® Premium Housekeeping Cart 360 Degree Casters, 61.25" x 24" W x 49.75" H Black	Drop-Ship	1	EA	\$ 613.80	10	\$ 6,138.00		GS Recommended		Janitorial and Housekeeping
0041515	Suncast Commercial® Premium Housekeeping Cart, Partially Assembled, Black	Drop-Ship	1	EA	\$ 643.02	0	\$ -		GS Recommended		Janitorial and Housekeeping
0037185	Suncast Commercial® Amenity Collection Bag for Housekeeping Cart, Black	Drop-Ship	1	EA	\$ 33.98	10	\$ 339.80		GS Recommended		Janitorial and Housekeeping
0037186	Suncast Commercial® Divided Hanging Bag for Housekeeping Cart, Black	Drop-Ship	1	EA	\$ 51.75	10	\$ 517.50		GS Recommended		Janitorial and Housekeeping
0037188	Suncast Commercial® 8-Pocket Organizer Bag for Housekeeping Cart, Black	Drop-Ship	1	EA	\$ 18.71	10	\$ 187.10		GS Recommended		Janitorial and Housekeeping
0038869	Suncast Commercial® Housekeeping Cart Carry Caddy and Toilet Bowl Brush	Drop-Ship	1	EA	\$ 51.04	10	\$ 510.40		GS Recommended		Janitorial and Housekeeping
0039026	Suncast Commercial® Lockable Hood Accessory, Black	Drop-Ship	1	EA	\$ 382.02	10	\$ 3,820.20		GS Recommended		Janitorial and Housekeeping
0041094	Suncast Commercial® Lockable Slide Drawer with Divider	Drop-Ship	1	EA	\$ 134.44	10	\$ 1,344.40		GS Recommended		Janitorial and Housekeeping
Royal Basket											
0035897	Royal Basket® Deluxe Metal Housekeeping Cart, 3 Shelf, 2 Bags - Vacuum Bar, Glass Rack, Black	Drop-Ship	1	EA	\$ 1,145.28	0	\$ -		GS Recommended		Janitorial and Housekeeping
0035911	Royal Basket® Housekeeping Cart 30in Bar/Bag Holder, Black	Drop-Ship	1	EA	\$ 73.71	0	\$ -		GS Recommended		Janitorial and Housekeeping
0035941	Royal Basket® Janitorial Two Compartment Vertical Organizer, Black	Drop-Ship	1	EA	\$ 34.75	0	\$ -		GS Recommended		Janitorial and Housekeeping
Tools and Accessories (for Housekeeping Cart)											
Dusters											
023645	Evercare Handy Helper Handle And Roller Lint & Dust Remover	Stocked	6	EA	\$ 7.32	12	\$ 87.84		GS Recommended	1 per cart	Janitorial and Housekeeping
023647	Evercare Adhesive Roll Refills for Handy Helper Lint Remover 4in Wide	Stocked	72	CS	\$ 111.30	2	\$ 222.60		GS Recommended		Janitorial and Housekeeping
0078348	Telescopic 50 Inch Pole (Fully Extended) *Note this item may not be available until	Stocked	6	CS	\$ 118.03	2	\$ 236.06		GS Recommended		Janitorial and Housekeeping
0025536	Swift® 360° Duster with Extender Handle (6 Handles and 18 Disposable Dusters)	Stocked	6	CS	\$ 57.79	2	\$ 115.58		GS Recommended		Janitorial and Housekeeping
0035723	Swift® 360° Duster Refills	Stocked	24	CS	\$ 36.44	3	\$ 109.32		GS Recommended		Janitorial and Housekeeping
Microfiber											
0035420	Microfiber Cloth 16x16 Green (general purpose, food service)	Stocked	12	DZ	\$ 13.46	0	\$ -		GS Recommended		Janitorial and Housekeeping
0035421	Microfiber Cloth 16x16 Red (bathroom toilets, urinals and high risk or hazardous restroom areas)	Stocked	12	DZ	\$ 13.46	0	\$ -		GS Recommended		Janitorial and Housekeeping
0035422	Microfiber Cloth 16x16 Blue (glass/mirrors)	Stocked	12	DZ	\$ 13.46	0	\$ -		GS Recommended		Janitorial and Housekeeping
0035423	Microfiber Cloth 16x16 Yellow (showers, mirrors and other low-risk bathroom areas)	Stocked	12	DZ	\$ 13.46	0	\$ -		GS Recommended		Janitorial and Housekeeping
0035424	Microfiber Cloth 16x16 Pink (Used for cleaning bathroom fixtures)	Stocked	12	DZ	\$ 13.46	0	\$ -		GS Recommended		Janitorial and Housekeeping
Sponges/Scrubbers											
0020251	Scrub Sponge, 3x5 Individually Wrapped, Non-Scratch	Stocked	100	CS	\$ 47.67	1	\$ 47.67		GS Recommended		Janitorial and Housekeeping
0037875	Sponge with Natural Scrub Non-Scratch 3x3 (non-scratch), Brown	Stocked	100	CS	\$ 44.81	0	\$ -		GS Recommended		Janitorial and Housekeeping
0008854	Medium Duty Scrub Sponge	Stocked	20	CS	\$ 13.77	0	\$ -		GS Recommended		Janitorial and Housekeeping
0008855	Light Duty Scrub Sponge	Stocked	20	CS	\$ 13.32	0	\$ -		GS Recommended		Janitorial and Housekeeping
0075785	Multi-Use Eraser	Stocked	24	CS	\$ 15.51	0	\$ -		GS Recommended		Janitorial and Housekeeping
0073402	Eraser Pad, White	Stocked	12	CS	\$ 63.10	0	\$ -		GS Recommended		Janitorial and Housekeeping
RME631	Rubbermaid® 15 Inch Toilet Bowl Brush, Plastic Handle, Polypropylene Fill, White	Stocked	24	EA	\$ 2.01	0	\$ -		GS Recommended	1 per cart	Janitorial and Housekeeping
0012354	Rubbermaid® 8.5 In. Tile and Grout Scrub Brush, Plastic Bristles, Black	Stocked	12	EA	\$ 3.00	12	\$ 36.00		GS Recommended	1 per cart	Janitorial and Housekeeping
Mops											
0073400	Swivel Pad Holder with Microfiber, Scrubbing and Eraser Pads	Stocked	3	CS	\$ 79.53	0	\$ -		GS Recommended	1 per cart	Janitorial and Housekeeping
0073403	Microfiber Cleaning Pad Refills, Blue	Stocked	12	BX	\$ 51.32	0	\$ -		GS Recommended		Janitorial and Housekeeping
0073401	Non-Abrasive Scrubbing Pad Refills, Blue	Stocked	12	CS	\$ 31.33	0	\$ -		GS Recommended		Janitorial and Housekeeping
0073405	Universal Cleaning Pad Holder, Threaded Socket	Stocked	4	EA	\$ 140.03	0	\$ -		GS Recommended		Janitorial and Housekeeping
0020699	Rubbermaid® Hygen® Pulse Microfiber Mop Kit, Single Sided, Yellow	Stocked	1	EA	\$ 142.79	0	\$ -		GS Recommended		Janitorial and Housekeeping
0015564	Rubbermaid® HYGEN Microfiber Damp Room Pad, 18in, Blue	Stocked	12	EA	\$ 6.40	0	\$ -		GS Recommended		Janitorial and Housekeeping
0024124	Janico® Microfiber 13 In Mop Kit, Contains 2 Flat Mop Pads, 13" x 5" Brush, 1 Handle and 1 Holder	Stocked	1	EA	\$ 28.03	0	\$ -		GS Recommended		Janitorial and Housekeeping
0024126	Janico® Microfiber Scrubbing Looped Wet Mop Pads, Blue	Stocked	12	DZ	\$ 48.11	0	\$ -		GS Recommended		Janitorial and Housekeeping
Vacuums											
0073220	Sanitaire® HydroClean Hard Floor Vacuum and Washer	Stocked	1	EA	\$ 301.04	0	\$ -		GS Recommended	1 per cart (for rooms with hard floors)	Janitorial and Housekeeping
0057294	Karcher® Window® Sensor® 512 12 Inch Upright Vacuum, Bagged with On-Board Tools	Stocked	1	EA	\$ 637.35	0	\$ -		GS Recommended	1 per cart	Janitorial and Housekeeping
0008673	Karcher® Window® Original® Upright Vacuum Bag 10 PK 3.600-050-0	Stocked	10	PK	\$ 20.47	0	\$ -		GS Recommended		Janitorial and Housekeeping
0037829	Sanitaire® Earth Quiet® 12 Inch Upright Vacuum, HEPA, Bagged with On-Board Tools	Stocked	1	EA	\$ 414.69	11	\$ 4,561.59		GS Recommended	how many vacuums?	Janitorial and Housekeeping
0037830	Sanitaire® Style RL Premium Paper Vacuum Bag 68104	Stocked	50	BX	\$ 42.97	2	\$ 85.94		GS Recommended		Janitorial and Housekeeping
Gloves											
0076301	Subtle Touch Vinyl Gloves Powder Free, Clear, Medium 1000/cs	Stocked	1000	CS	\$ 22.08	2	\$ 44.16		GS Recommended		Janitorial and Housekeeping
0076299	Subtle Touch Vinyl Gloves Powder Free, Clear, Large 1000/cs	Stocked	1000	CS	\$ 22.08	2	\$ 44.16		GS Recommended		Janitorial and Housekeeping
0076334	Subtle Touch Nitrile Gloves Powder Free, Blue, Medium	Stocked	1000	CS	\$ 11.33	0	\$ -		GS Recommended		Janitorial and Housekeeping
0076333	Subtle Touch Nitrile Gloves Powder Free, Blue, Large	Stocked	1000	CS	\$ 11.33	0	\$ -		GS Recommended		Janitorial and Housekeeping
0076197	Subtle Touch Latex Gloves Powder Free, Cream, Large 1000/cs	Stocked	1000	CS	\$ 40.25	0	\$ -		GS Recommended		Janitorial and Housekeeping
0076198	Subtle Touch Latex Gloves Powder Free, Cream, Medium 1000/cs	Stocked	1000	CS	\$ 40.25	0	\$ -		GS Recommended		Janitorial and Housekeeping
Ready to Use Cleaning Products (for Housekeeping Cart)											
Ask your Sales Consultant about Ecobid Dispenser Programs for Cleaning Chemicals											
0032642	Keystone Glass Cleaner, 945ml / 32oz, #610087	Stocked	4	CS	\$ 32.05	0	\$ -		GS Recommended		Janitorial and Housekeeping
0032599	Keystone Furniture Polish Aerosol (Oil-Based), Aerosol, 17oz, #60100200	Stocked	6	CS	\$ 49.03	0	\$ -		GS Recommended		Janitorial and Housekeeping
0076877	Keystone Rapid Multi-Surface Disinfectant Cleaner, 32 oz, #6102288	Stocked	4	CS	\$ 61.45	0	\$ -		GS Recommended		Janitorial and Housekeeping
0043543	Keystone Disinfectant Mold and Mildew Bleach Cleaner, 32oz, #6101836	Stocked	4	CS	\$ 36.44	0	\$ -		GS Recommended		Janitorial and Housekeeping
0035760	Keystone CBC Plus Toilet Bowl and Bathroom Cleaner, 32oz, #6100083	Stocked	6	CS	\$ 50.17	0	\$ -		GS Recommended		Janitorial and Housekeeping
0039492	Keystone Floor Cleaner Ready-To-Use, 2oz, #6100681	Stocked	60	CS	\$ 68.42	0	\$ -		GS Recommended		Janitorial and Housekeeping
0032648	Keystone Air and Fabric Freshener, 32oz, #6100068	Stocked	6	CS	\$ 61.88	0	\$ -		GS Recommended		Janitorial and Housekeeping
0035762	Keystone Sain Shine Stainless Steel Cleaner and Polish (Oil-Based), Aerosol, 16oz, #6100430	Stocked	6	CS	\$ 53.01	0	\$ -		GS Recommended		Janitorial and Housekeeping
0023816	Impact® General Purpose Trigger Sprayer works on 16, 24, 32 Ounce Bottles, White	Stocked	12	CS	\$ 12.79	0	\$ -		GS Recommended		Janitorial and Housekeeping
0023814	Impact® 32 Ounce, Plastic Hand-Hold Bottle with Graduations, Natural, Spray Sold Separately	Stocked	12	CS	\$ 10.39	0	\$ -		GS Recommended		Janitorial and Housekeeping
Lobby Tools and Cleaning Products											
0018857	Rubbermaid® Janitorial Cleaning Cart, Traditional, Black	Stocked	1	EA	\$ 156.73	1	\$ 156.73		GS Recommended		Janitorial and Housekeeping
0019556	Rubbermaid® 56 Inch Jumbo Smooth Sweep Angle Broom, 10 Inch Sweep Face, Black Metal Handle	Stocked	6	EA	\$ 8.94	12	\$ 107.28		GS Recommended	1 per lobby cart	Janitorial and Housekeeping
006170	Rubbermaid® Executive Series Lobby Pro Dual Pan With Long Handle, No Cover, No Broom, Black	Stocked	6	EA	\$ 12.65	12	\$ 151.80		GS Recommended	1 per lobby cart	Janitorial and Housekeeping
006560	Rubbermaid® BRUTE® Bucket, 10 Quart Round, Gray	Stocked	12	EA	\$ 8.89	0	\$ -		GS Recommended		Janitorial and Housekeeping
006765	Rubbermaid® Wheelbreak® Side Pouch Canvas Bag Bucket/Wringer, 35 Quarts, Yellow	Drop-Ship	1	EA	\$ 88.55	1	\$ 88.55		GS Recommended	1 per lobby cart	Janitorial and Housekeeping
IM150	Impact® Lambwood Duster with Telescopic Handle, 30 In to 45 In, Assorted Color 12" Head	Stocked	12	EA	\$ 5.93	0	\$ -		GS Recommended	1 per lobby cart	Janitorial and Housekeeping
0000742	Rubbermaid® 28 Inch "Caution Wet Floor Sign" 2-Sided, Yellow	Stocked	6	EA	\$ 10.26	12	\$ 123.12		GS Recommended	1 per lobby cart	Janitorial and Housekeeping
0000747	Rubbermaid® 20 Oz. Super Stitch® Blend Wet Mop, 5 In. Headband, Blue Mop, White Headband	Stocked	6	EA	\$ 9.04	12	\$ 108.48		GS Recommended	1 per lobby cart	

